

$$g(x) = \frac{3x^{2} - 6x + x^{3}}{x^{3}} = \frac{3x^{2}}{x^{3}}$$

$$g(x) = \frac{3\chi^2 - 6x + \chi^3}{\chi^3} =$$

















Last class, we found the gradpent of curves at a specific point (a) drawing a tangent and estimating b) Algebratcally(c) with GDC







Pick Up Notes 2,0

What we are about to look at will require you to focus on on the gradients of all of the tangents of a function







B Gradient is a rate of change The Derivative is a function that that you can use to generate the gradient at any x-value.





















$$f(x) \qquad f'(x) \qquad (1)$$

$$x^{4} + 2x^{2} \qquad (1 \times^{3} + 5) \times (1 \times^{$$



		(K
Function	f(x)	f'(x)
a constant	a	0
x^n	x^n	nx^{n-1}
a constant multiple of x^n	ax^n	anx^{n-1}
multiple terms	u(x) + v(x)	u'(x) + v'(x)







3 Consider
$$f(x) = \frac{1}{x^4}$$
.
a Find $f'(x)$.
b Find and interpret $f'(1)$.
 $f(x) = \chi^{-4}$
 $f'(1) = -\frac{4}{(1)^5} = -4$
 $f'(x) = -4\chi^{-5}$
 $= \frac{-4}{\chi^5}$
-4 is the gradient of
the tangent at $\chi = 1$





Find
$$f'(x)$$
 for.....
 $f(x) = 5x^3 + 6x^2 - 3x + 2$
 $f'(x) = 5(3x^2) + 6(2x) - 3(1) + 0$
 $f'(x) = 15x^2 + 12x - 3$



$$f(x) = 7x - \frac{4}{x} + \frac{3}{x^3}$$

= 7x - 4x⁻¹ + 3x⁻³
$$f'(x) = 7(1) - 4(-1x^{-2}) + 3(-3x^{-4})$$

$$f'(x) = 7 + 4x^{-2} - 9x^{-4}$$

$$0 \qquad f'(x) = 7 + \frac{4}{x^2} - \frac{9}{x^4}$$





